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(a) 29 (b) 25 (c) 9 (d 33
(20) If3a + 2b = 4 and 6ab = 24, then 9a® + 4b?> — 2ab =?

(a) 16 (b) —40 (c) -52 (d) None
(21) 1If3a — 5b = 4 and 9a? = 20 + 25b* then 3a + 5b = ?

(a) 5 (b) 400 (c) 100 (d) None
(22) Ifa+ 2b=5and 5a — ¢ = 6 then 5a® + 10ab — ac — 2bc =?

@ 1 (b) 11 (c) 30 (d) None
(23) Ifa+3b=7and6ab —c>=2thena®>+9b*> +c*?="7?

(a) 40 (b) 27 (c) 45 (d) None
(24) Ifa—-b=6andc®>+ab=5,thena?+ b>+2c2=7?

(a) 41 (b) 36 (c) 46 (d) None
(25) If3x + 4y = 9 and 4y — 3x = 3, then 9x* — 16y* = ?

(a) 27 (b) 243 (c) -27 (d) None
(26) 5**'=1,thenx =7?

@ 5% b -1/ © 5 @ o
(27) 125* =5’ thenx =?

(a) 2/5 (b 1 () 2/ @ 1/
(28) 54*=27% 6% thenx =?

(@) 3/ (b) x=3 (©) 3/ d 2
(29) (0.008)* = 4***1 then x = ?

@ -7/ (b) 3/ (c) 5/3 @ -2/

(30) (0.02)*=8x%x5*thenx =7?
(@ 2 (b)) -3/ © -1 d -2
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(13) What is a root of the equation x* — 16x* + 71x — 56 = 0?

(a) 8 b)) -7 (c) -9 d 17
(14) What is a root of the equation x* + 11x> + 41x* + 61x + 30 = 0?

(a -7 (b) 7 () 5 (d -5
(15) What is a root of the equation x> — 12x*> + 41x — 42 = 0?

(@ -9 (b) -7 () 5 (d 7
(16) What is a root of the equation 2x3 + 13x* + 17x — 12 = 0?

(@) 5/ b) 1/ () 5 d -7
(17) What is a root of the equation 3x® + x> — 8x + 4 = 0?

(@) 2/ (b) 3/ ) 3/ d -7
(18) What is a root of the equation 3x* + x* — 8x + 4 = 0?

(@) 5/ (b) 2/ ) 8/ @ -7/
(19) What is a root of the equation 5x° + 26x* + 35x + 6 = 0?

(@ 3/ (b) 2%/ () -1/ @ -4
(20) What is a root of the equation 2x* — 9x* + 13x — 6 = 0?

@@ -3/ ®) -1 © 5h @ 34
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(18) The salary of a sales man is $200 plus commission 40 cent per bundle

(19)

(20)

after selling 100 bundles. If he sales 250 bundles, how much does he
receive this month?

(a) $300 (b) $260 (c) $250.10 (d) None
The price of petrol is Rs.36 per litre. Ali's car travels 12km per litre.
How many kilometers he travels if he has petrol in the car of Rs.x.

(@) 3x (b) 3/ © X/ (d) None
Ali has a car. The car is gone 10km per litre and Ali has petrol of
Rs.600 in his car and travel x km. What is the price in rupees of the
petrol per litre.

(a) 6000/ (b) 604 ©  *ko @ e

[For more problems see also topics "system of two equations" and
"rate"].
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(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

The equation x> — 10x — ¢ = 0 have real roots, ¢ is an integer, the least
value of c is g

@ o (b) -26 (c) -25 d -24
The equation 2x* — 9x — m = 0 have real roots, where m is an integer.
The least value of m is :

(@ -11 (b) -10 (¢ -9 (d) —10.125
The equation x> — kx + 25 = 0 have real roots. The range of the values
of k is g

(a k= =10 (b) k>=*10

(¢ k=-10,k= 10 (d k>10

The equation px? — 10x + p = 0 have real and distinct roots. The range
of the values of p is :

(@ p<z=*5 (b) p<5

(c) -5<p<5 (d) -5<p<5

The line y = 2 is tangent to the curvey = x 2
integer. The value of p is g

(a) 16 (b) 18 (o) 12 (d) 49

— 8x + p, where p is an

The line y = 1 intersects the curvey = x ? — 4x + p + 1. The greatest
value of p is , where p is an integer.

(@ 4 (b) 5 (c0 O d 3

The line y = —3 does not meet the curvey = x 2 + 6x + p — 3, where p
is an integer. The least value of p is i

(a) 10 (b)) 9 (c) 8 d 3

The line y = 5 does not intersect the curve y = x > — 4x — k + 5, where
k is an integer. The greatest value of k is :
@ -3 (b) -5 (c) -4 d 4
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3x* - 12x* + 5 =0?

(a) -16 (b) 2 (c) 16 d 4
(14) What is the product of the square of the root of the equation

6x* - 5x*-30=07?

(@ 25 (b) -5 () -25 d S
(15) What is the equation whose roots are 3i and 5i?

(a) x*-8x-15=0 (b) x*+8ix—-15=0

(c) x2-15x+8=0 (d) None

(16) What is the equation whose roots are three times the roots of the
equation (x — 2) (x — 5) =0?
(a) x*-21x+30=0 (b) x*-7x+10=0
() x*-21x+90=0 d x*-81=0

(17) The sum and product of the roots of the equation x2 + bx + ¢ = 0 are
18 and —115 respectively. What are the values of b and c?
(a) 18,115 (b) 115, -18
(c) 18,-115 (d -18,-115

(18) The sum of the roots of the equation x? — 5x + q = 0 is half the
product of the roots of the equation 5x > + bx + m = 0. What is the
value of m?

(a) 25 (b) 50 () 125 d q
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(5) The expression x* + kx* + 9x* + 4x — 12 is exactly divisible by (x —2)2.
What is the value of k?
(a) 6 (b) -6 (c) i (d) None
(6) The expression x* + 4x> — mx*> — 16x — 12 is exactly divisible by x*— 4.
What is the value of m?
(@ 3 (b) 1 (c) 2 (d -5
(7) The expression x* + kx > — 3x? + 11x — 6 is exactly divisible by
x> — 2x + 1. What is the value of k?
(a) 11 (b) 7 (c) -3 (d) None
(8) What number should be added to the expression x* + 4x* + x — 8, that
the remainder must be 5, when the expression is divided by x — 1.
(@ -2 (b)) 7 (c) -3 d 5
(9) When the express 2x* + 3x + 9 is divided by x — k, the remainder is 9.
What is the value of k?
@ -3 b) -5 © s @ 24
(10) What number should be added to the equation x® — 5x* + 7x + 2 =0
that 2 must be a root of the equation?
(a) 8 (b) 4 (c) -4 (d) none
(11) What number should be subtracted from the expression
x? + 2x* — 7x — 5 that x — 2 must be a factor of the expression?
(@ -3 (b) 3 (c) 5 d 2
(12) What number should be added to the expression 2x*® — 3x? + 2x + 10
that (x + 1)? must be the factor of the expression?
(@ -11 (b) -1 (c) 5 d -3
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(7)

(8)

9)

(10)

Six years times Ahsan's age will be three less than three times the age
of Asghar. If Ahsan is 15 years old now. What is the age of Asgh ar?

@ 3 (b) 7 (c) 12 d 2

The sum of the ages of Ali and Talha is 48. Three years ago Ali is 50
minus two times the age of Talha. What is the age of Ali now?

(@ 24 (b) 32 (c) 36 (d) 40
Mrs. Ali buys 45 fruits for Rs.160. He buys two types of fruits orange
and banana. She boys orange and banana Rs.48 and Rs.36 per dozen
respectively. What are the number of banana?

(@) 16 (b) 25 (c) 20 (d) 30

In a cricket match 200 runs are made by 44 fours and sixes. What are
the number of sixes?

(@ 16 (b)y 29 (c) 12 (d 14
[For more problems see "linear equation of one variable" and "rate"].






